X7 1"7 '010 2,28 naw .7"'02

— WD PINRD R2Y PINRD KT
But behind him, and it came behind him he is exempt

Overview

The mwn inferred from the &w1 that only 1InR? 1% 821 119 is Mo, however by
1R, 821 1R 1s 2711, and from the X9°0 which states 2717 1°19% 17 K21 1"0XY we infer
the opposite that 1InX? 821 PINK? is Mo, Our NMdOIN wonders why occasionally the
X1 does resolves this type of contradiction and here it does not
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Previously by /911 the X713 answered that ‘it becomes as if” -
= N N99N) NOD N3N 22D (3,7 91 2PWITPT RNDP 7992)

And in the first P9 of Pw17°P Ndon regarding the case where ‘she gave and she
said’, the x7n3 also answers qwy3 -
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However in many places the X712 does not answer, 7wy1'; including here

Summary
The answer of 7wyl is not always utilized.

Thinking it over

In the case of P11 there was no inherent contradiction in the 71w»; similarly in the
case of Pw17°P the X1 and X9°0 were not arguing, it was merely an excluded middle
(even if the inference is contradictory). However here the inference of the X is
that 1RS> X271 1PIARY is ‘better’ than 1KY X271 1197 since MN2wnn 72avnx; however
the inference from the X9°0 is that 1R X21 PINKRY even though Nawnn 7°aVNK is
worse than 1°19% 821 1InKR? where \n2wnn 7°2vnk K. The question was (perhaps) not
so much from the inference of the 7 by 1InXY X231 1R, but their different
approaches to 1nawnn 72avnK, therefore the X773 could not say nwy1, because the X5°0

Pt maintains TaR 7w K 93 7aR. The X m3 inferred from the mawn which states ‘that he is not 217 unless he takes
out the entire basket”, that (even) if he took out all the M7 he is still WD since TAR 7AW 225 TR, W"»y.The X3
answered that 717 will say that (the mawn is discussing long fruits, however) if it contained mustard seeds than when
he takes out part of the basket it is considered as if he took out the entire basket and he is 21 for 7aR 72w X7 795 TaX.
2 The ®n»"2 there states that if he gave her the 1w17°p 702 and he said *» nwTpn NX *7 it is a valid PwTp, however if
she gave the money and she said 72 nwTIPn *IX *77 it is not valid. The X3 asked that in a case of X7 7K X177 103
there is a contradictory inference from the X1 (that nwmpn 71X) to the X9°0 (she is NwTIPR). The X3 answered that
if Ko7 7R R 103 it 1s 7wyl as if R 799K 807 7101 and she is not nwTIpA.

3 The question is why here did not the X723 say that if it was »InR? and 17X 12 X2 it is qw1 as if it was 17 821 17IR5
1199 and he is 2°n. See ‘Thinking it over’.
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does not care for \nawnn» 7°avnKX, only for 1710 X2.*

4 See nnax nowa 1"y, (0" W IX) 72 7MWY NI ,NAWRR TAVART' DWW 270 19199 K21 PIRDT Qv w'AT AR,
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